RUAEFARF

XIANGSHAN HUAYANG
MACHINERY ACCESSORIES FACTORY

2 #
TAEXT
Working Lamps
95
$23 3
470
LED %Tif A /
4- 5
ES9pi7} l
S# R~ Parameter Size
A B H V w
JD-01 61 46 50 24 E5)
JD-11 64 52 80 24 €5
JD-01-LED 61 46 50 24 2
JD-11-LED 64 52 80 24 2
TAEXT
Working Lamps
3- 96
$ 78

$ 62

S# R~ Parameter Size

\
JD-02 24




RUEFARI T

XIANGSHAN HUAYANG
i g MACHINERY ACCESSORIES FACTORY

TAEAT
Working Lamps

SR~ Parameter Size

Vv W
JD-03 24 85

JD-04\JD-14

TAEXT
Working Lamps

68

4- 6.2

| 360°

SR~ Parameter Size

A B Vv W

JD-04 115 ®96 24 35
JD-14 118 ®115 24 35



RUAEFARF

XIANGSHAN HUAYANG
MACHINERY ACCESSORIES FACTORY

it "
T1EXT
Working Lamps
i LED 4T3
=4TiE
SHR~F Parameter Size
A B Vv w
JD-05 115 ®96 24 35
JD-15 118 ®115 24 35
JD-05-LED 115 ®96 24 1
JD-15-LED 118 ®1156 24 1
T1EXT
Working Lamps
5 LED #T:&1
' 4062/ 104
os2|
=4TiE o
SH# R~ Parameter Size
A B Vv w
JD-06 115 ®96 24 35
JD-16 118 D115 24 35
JD-06-LED 115 ®96 24 1

JD-16-LED 118 ®115 24 1




RUEFARI T

XIANGSHAN HUAYANG
!r- :¥ MACHINERY ACCESSORIES FACTORY

JD-07\JD-17

T1EXT

Working Lamps
LED #Ti

3-06.9

FATiE

S# R~ Parameter Size

A B Vv w

JD-07 115 ®96 24 35
JD-17 118 115 24 35
JD-07-LED 115 D96 24 1
JD-17-LED 118 115 24 1
HY 8330.1
INBY 57 T3 (e Bk B

Universal Conplings

— 1 |— o — 1 —
1
\
o ol o I 7 .
k%5 Coupling ¥ Steel % B4 Blackened
S# R~F Parameter Size
X (Steel) D L d d, |
HY8330.1\(10" 12)x66 20 66 10 12 4 10
HY8330.1\(12" 14)x76 25 76 1214 5 12
087 HY8330.1\(16 18)x88 32 88 16 18 6 13



RUSFALRHTAT

XIANGSHAN HUAYANG

MACHINERY ACCESSORIES FACTORY ™ g

HY 8330.2
SEPEBR SR T
Flexible Couplings

= =
T :

=

Lz‘ di
1 1

BX#h5 Coupling 4% Aluminum alloy\ $¥ Steel  #13% Polishing\ % 2403 Blackened
34 T4 Elastic element B & ES Polyurethane 4115 Red\ =& Yellow

SR~ Parameter Size

842 (Aluminum alloy)\ 4 (Steel)

HY8330.2\(6 14)x30x35 30 S5 1 1 13 6 14 M4
HY8330.2\(6 24)x40x66 40 66 25 16 6 24 M5
HY8330.2\(16 28)x55x76 55 76 30 16 16 28 M8
HY8330.2\(18 36)x65x90 65 90 35 20 18 36 M8
HY8330.2\(20 45)x80x114 80 114 46 22 20 45 M8

i $2fEi% GB1095-79 MIE Notes: Keyway according to standard GB1095-79.

HY 8330.2-1

e R T B T
Clamping-type Flexible Couplings

3 ©
" —
-

P e ol 35 S 3
#]¥rl !

o |

L1 | B |
L
B Coupling $84 % Aluminum alloy\ $¥ Steel ~ #i5¢ Polishing\ %& 402 Blackened

14 T4 Elastic element  EB&ES Polyurethane 4 Red\ & Yellow
SR~ Parameter Size

{842 (Aluminum alloy)\ $X (Steel) D L LyL, B t d, d, ds
HY8330.2-1\(8" 14)x30 30 41 14 13 7 8 14 M4
HY8330.2-1\(14 22)x40 40 66 25 16 10 1422 M6
HY8330.2-1\(18 28)x55 55 76 30 16 10.5 18 28 M6
HY8330.2-1\(20 36)x65 65 90 Sh) 20 11.6 20 36 M8

HY8330.2-1\(22" 45)x80 80 114 46 22 18 22 45 M8




RUEFARI T

XIANGSHAN HUAYANG

" ;¥ MACHINERY ACCESSORIES FACTORY

HY 8330.3

¥k
. . 1111

Plugs

S# R~ Parameter Size

. FRSS temNo.

¥8 (Plastic) d D H h
HY8330.3\d=7 7 ) 95 7
HY8330.3\d=11 11 13 10 7.5
HY8330.3\d=13 13 15 11 8.5
HY8330.3\d=15 15 17 11 8.5
HY8330.3\d=17 17 19 11 8.5
HY8330.3\d=19 19 22 11 8.5
HY8330.3\d=21 21 24 11 8.5
HY8330.3\d=25 25 28 11 8.5
HY8330.3\d=27 27 30 11 8.5

HY 8330.3-1

il
Retaining Rings

. ° 1

di

#4F Retaining rings B K Bakelite 2 Black
S# R~ Parameter Size

[EIFL (Bore) J57L (Square) d D H B D, dl
HY8330.3-1\A35x95 - 35 95 40 10 55 M8
HY8330.3-1\B41x110 41 110 50 10 80 M10

089

HY8330.3-1\A61x120 = 61 120 50 10 90 M10



RUAEFARHIAF

XIANGSHAN HUAYANG

MACHINERY ACCESSORIES FACTORY " ;¥

HY 8330.4

RER
Rolling Wheels

i %% 8010457

S#R~F Parameter Size

#8 (Plastic) d D B
HY8330.4\20x80 20 80 20
HY8330.4\20x150 20 150 20

HY 8330.5
E#
Rolling Wheels

8010247

SR~ Parameter Size

¥8 (Plastic)
HY8330.5\15x80




RUEFARI T

XIANGSHAN HUAYANG
*r- :¥ MACHINERY ACCESSORIES FACTORY

HY 8330.6

[E#ER

Industrial Wheels

n
L

S# R~ Parameter Size

RBEEE, 1882 (PUAlminum alloy) d D B
HY8330.6\17x100x50 17 100 50
HY8330.6\30x80x53 30 80 58
HY8330.6\30x120x53 30 120 58
HY8330.6\35x140x50 35 140 60

. §iEiR GB1095-79 MIE HBH MK ARIEAFPEEEM Notes: Keyway according to standard GB1095-79, special specification available on request.

HY 8330.7

it

Industrial Wheels

S# R~ Parameter Size

B, £k (PU,iron) D B b d
HY8330.7\62x200 200 80 16 62




RUAEFARF

XIANGSHAN HUAYANG

MACHINERY ACCESSORIES FACTORY i g

HY 8330.8

iy
Industrial Wheels

(X XA
RKLLLKKARKKN

SH R~ Parameter Size

BSfs , % (PU,iron) D B b d
HY8330.8\47x75 47 75 50 14

e

HY 8330.10 =

SRR 3

Industrial Wheels =

g

@

=

. (5 -]

=

(/]

| [}

RXXXIKITITIIL <

@®

8 -

| [}

@®

(/]

SH R~ Parameter Size

RSP, ¥ (PU,Steel) D d B

HY8330.10\14x47 30 14 47
HY8330.10\20x40-62 36 20 40-62
HY8330.10\22x55 65 22 5%5)




RUEFARI T

XIANGSHAN HUAYANG
Py e MACHINERY ACCESSORIES FACTORY

HY 8331.4

=4
Nylon Wheels

’ =10

SH R~ Parameter Size

Mc fé% (MC nylon) D d B b
HY8331.4\80x70 80 47 70 14
i AIREIKEREM Notes: It can be customized upon the requirement of drawings.

HY 8332.1

AN

Bearing Plates

_F)
Pl

R
D)
& || .
>
x|\
-

@

S# R~ Parameter Size

T

fHEZ (Aluminum alloy) A B a
HY8332.1\200x120 200 120 58 90 20 104

HY8332.1\220x120 220 120 70 110 20 104
HY8332.1\250x140 250 140 75 115 25 106
i FENATFAHN Notes: Mainly apply to cold laminating machine.



RUAEFARF

XIANGSHAN HUAYANG

MACHINERY ACCESSORIES FACTORY ™ g

HY 8332.2
2 NCIEEES

Vertical Bearing Plates

$¢83 -0.10

$76

60

$47j7
$63 +0.10

-0.10]
—[10|— 31 =53]

—|6117 ——
50

4-011.2
G17iFLIR10

©
@

51.5
40.5

T
101
105
124

SH R~ Parameter Size

X %2 Bearing plates $84 < Aluminum alloy #5t Polishing HY8332.2\47X83 HY8332.2\47X86
i FENATRESK  Notes: Mainly apply to turret milling machine.

HY 8332.3
(G2

Horizontal Bearing Plates

4 |
o %
o
! N
oo ol T 1
35| 8|3 o813
— 18 |—
48
3-M6-7H
o
Al
)
el ©
A <
© =287 O
= 4-911.2 T &
@
& J
|25
110
151.5
184

S¥ R~ Parameter Size

¥ Z2 Bearing plates $84 % Aluminum alloy 3 Polishing HY8332.3\47X83 HY8332.3\47X83
i EENATHRESK  Notes: Mainly apply to turret milling machine.




RUEFARI T

XIANGSHAN HUAYANG
MACHINERY ACCESSORIES FACTORY

HY 8333.1
[

=

Hinges

1ol e
Ho o]
o

S# R~ Parameter Size

BB (Reinforced nylon) A B © D F d
HY8333.1\49x50 49 50 375 29 6 4.5
HY 8333.2
=gl
Hinges

w2 < —\

N\
N
A

S¥ R~ Parameter Size
m Ea8fE e (Reinforced nylon) A B © D F d

HY8333.2\79x102 78 102 72 49 11.5 ®6.8



RUSFALRHTAT
XIANGSHAN HUAYANG
MACHINERY ACCESSORIES FACTORY o~

HY 8333.4
Bl
| |
T
“ ‘/\

Hinges
£ Black

#48% Zinc alloy

)
N

> | [d
30
50

@)
=%
2

@

i
€

S# R~ Parameter Size

& Hinges

HY 8315.13
gzl

Leveling Mounts
e e N

28

20

-

SH R~ Parameter Size
. F&%S temNo.  EER Maindimensons @8 Nat
HEEBE K. ¥ (Reinforced nylon, steel) d L A
HY8334.1\M8x43(68) M8 43. 68 M8
HY8334.1\M10x43(68. 98) M10 43, 68. 98 M10
HY8334.1\M12x43(68. 98) M12 43, 68. 98 M12
M16 68. 108, 148, 168 M16

HY8334.1\M16x68(108. 148. 168)



SRUHEFALARMI A

XIANGSHAN HUAYANG
= = " MACHINERY ACCESSORIES FACTORY

HY 8340.2

I 0
Cabinet Latches

715
61.5
T
62
725
86

o
j=
@
I

@ I

25 — T
55 ———

SR~ Parameter Size

71 Latch $¥&% Zinc alloy R Silver
& HY 8340.3
e
= Wk
= Cabinet Latches
=g 56
m 30
: A
g ~ 45°
oo O
S G
) 37
&n
m 2-R3.5
g
pute A= R
= |5
wn R :
1
23.5

S# R~ Parameter Size

097 i79i Latch #45% Zinc alloy &> Sand-blasted





